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General Instructions:
(1) Question paper comprises five Sections — A, B, C, D and E. There are 34 questions in the question paper.
All questions are compulsory.




(i1) Section A — Question 1 to 21 are MCQs of 1 mark each.

(ii1) Section B — Question no. 22 to 27 are Short Answer Type Questions, carrying 3 marks each. Answer to
each question should not exceed 60-80 words.

(iv) Section C - Question no 28 to 30 are Long Answer Type Questions, carrying 8 marks each. Answer to
each question should not exceed 300-350 words.

(v) Section D — Question no.31 to 33 are Source based questions with three sub questions and are of 4 marks
each.

(vi) Section E - Question no. 34 is Map based, carrying 5 marks that includes the identification and Location
of significant test items. Attach the map with the answer book.

(vii) There is no overall choice in the question paper. However, an internal choice has been provided

in few questions. Only one of the choices in such questions has to be attempted.

(viii) In addition to this, separate instructions are given with each section and question, wherever necessary.

Section - A

SN. aﬁﬁg Yh X YUY Objective Type Questions MM

1 | O B9 ot A1 9 1 ORiford gu? 1
a) it T AT I T S i o o |
b) Fifd T T HH Jafwrd &

¢) Hifds He HH fabfd U
SESEREIERN BT

Why were the Mongols defeated by the Egyptian army?

a) Because Mongol rulers began to take more interest in China.
b) Because the Mongol army was less equipped.

c¢) Because Mongols were less developed.

d) None of the above.
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The Mongols travelled with their herds to pasture lands and lived in tents called:
a) Anda

b) Gers

c¢) Noyans

d) Yasa

3 |99 WH & i IR o Uit 3 & U & SR, ST Uiyt | 1
Uid U= Qg fdar a1 ol

a) ot s
b) S[EF




SR URISER]
d) 3MIes

During Genghis Khan's attempt to conquer China, North Western Provinces was ruled by
a) Hsi Hsia

b) Jurchen

c¢) Sung dynasty

d) Ogodei
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Through the 1180s and 1190s, Temujin (Genghis Khan) remained an ally of
a) Boghurchu

b) Jamuqa
c) Kereyits

d) Ong Khan
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The Mongols imported  from China.

a) Cotton

b) Crude Oil

c) Coffee
d) Iron Utensils
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Which among the following is Correctly not matched?

Column A Column B

a) Golden horde (1) confederacy established by decendants of Jochi.

b) Gerege (i1) Meant for pass or permit in mongolian.

¢) Qubcur (iii) A tex imposed on traders provided with trading facilities.
d) Yasa (iv) code of law
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Why Genghis Khan commanded to plunder and destroy Nishapur?
(a) Because a Mongol prince was killed.

(b) Because Nishapur refused to export agricultural produce.

(c) Because they were developing industries.

(d) None of the above.
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NOTE: The following question is for the visually impaired candidates in lieu of
Question number 8.
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Ghazan khan, descent of Genghis Khan was through the lineage of .
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“If you insult the peasantry take their oxen and seed and trample their crops into the ground,
what will you do in the future?”” Who said this statement?

a) Genghis Khan

b) Ghazan Khan

¢) Qubilai Khan

d) Chaghatai khan
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Consider the following statements in respect of the Clergy:

i. The Catholic Church had its own laws, owned lands given to it by rulers and could not
levy taxes.

ii. Everyone could become a priest and after became priest he could marry.

iii. Some ceremonies conducted by the Church copied formal customs of the feudal elite.
iv. The Church was entitled to a tenth share of whatever the peasants produced from their
land.

Which statements is /are correct?

A. iandii

B. iii and iv

C. ii and iii

D. iandiv
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Which festival marked the crucifixion of Christ and his rising from the dead?
A. Saint Maria

B. Christmas

C. Easter

D. Black da
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Consider the following statements in respect of the history of England. Which of the
following is not correct?

(A) The country’s name, England, is a variant of ‘Angle -land’.

(B) The Angles and Saxons, from central Europe, had settled in England in the sixth century.
(C) Germany and England were often at war because of disputes over territory and trade.

(D) Anglo-Saxon peasants became tenants of various levels of landholders.
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If a serf could stay for one year and one day without his lord discovering him, he would
become a priest. ( True/ False)
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Given below are two statements one labeled as assertion (A) and the other labeled as Reason
R):

Assertion (A): A shortened growing season for crops, and reduced yields from agriculture.
Reason (R) : An intensely cold climatic spell in 5th to 10th century. This led to severe and
prolonged winters.

i) Both (A) and (R) are correct and (R) is the correct explanation of (A).

i) Both (A) and (R) are correct and (R) is not the correct explanation of (A).

iii) (A) is correct but (R) is not correct.

iv) (R) Is correct but (A) is not correct.
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Given below are two statements one labeled as assertion (A) and the other labeled as Reason
R):

Assertion (A): All abbeys were single-sex communities, that is, there were separate abbeys
for men and women.

Reason (R): This was done for the moral and character stability of men and women.

i. Both (A) and (R) are correct and (R) is the correct explanation of (A).

ii. Both (A) and (R) are correct and (R) is not the correct explanation of (A).

iii. (A) is correct but (R) is not correct.

iv. (R) Is correct but (A) is not correct
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Assertion (A)- A front door that did not open towards another house was lucky.

Reason (R) if the main wooden door of a house opened outwards (instead of inwards), the
wife would be a torment to her husband.

i. Both (A) and (R) are correct and (R) is the correct explanation of (A).

ii. Both (A) and (R) are correct and (R) is not the correct explanation of (A).

iii. (A) is correct but (R) is not correct.

iv. (R) Is correct but (A) is not correct
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Which statements is/are true:
a. The first Mesopotamian tablets were written around 3300 BCE , which contained picture
liked signs and numbers.
b. These were about 5000 lists of oxen, fish, bread, loaves, etc. lists of goods that were
brought into or distributed from the temples of Uruk.
c. Mesopotamia was important to Europeans because of references to it in the New
Testament.
d. Travelers and scholars of Europe looked on Mesopotamia as a kind of ancestral land.
1. a,bandc
1.a,cand d
1ii. b, cand d
iv. All of them
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Which statement(s) is/ are true?
Consider the following statement about roman society:

a. Prevalence of nuclear family.
b. Slaves were included in the family.
c. Divorce was relatively easy.

d. Marriages were generally arranged.

1. a,band d
2.b,candd
3.a,bandc
4. All of them
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Read the following information and identify the system to the supply of slaves:
“The practice of encouraging female slaves and their partners to have more children, who
would of course also, are slaves”.
a. Slave marriage
b. Slave breeding
c. Slave purchasing
d. None of these
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(c) TSt TrciTect $.q.
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Christianity became the state religion of Roman Empire in the...

(a)lst century CE.
(b) 2nd century CE.
(c) 3rd century CE.
(d) 4th century CE
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Who recommended that” landowners should keep a reserve stock of implements and tools,
twice as many as they needed, so that production could be continuous, for the loss in slave
labour time exceeds the cost of such items?”
a. Augustine
b. Columella
¢. Draco
d. Tacitus
Section - B
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EN EN
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“Agriculture in South Mesopotamia was sometimes subject to hazards”. Which factors were
responsible for it? Explain.
OR
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“Mesopotamians valued city life in which people of many communities and cultures lived
side by side.” Mention some of the facts regarding this.
. N\ QA .
23 | AR Ql(‘ll@' T JAHA U B BT The BT JTHAT HRA] Yol

T | RSAT DI

Explain the Roman empire faced a lot of strain in the third century.
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What were the military achievements of Genghis Khan?
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What arrangement did the mongol's make in their Empire for connecting the distant areas?
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How did technological changes affect agriculture during 11th century?

OR
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“Knights became a distinct group under medieval European society”. why?
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Discuss in detail about the emergence of Cathedrals.

Section - C
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How did the art of writing develop in Mesopotamia? Which changes came in Mesopotamian
writing and language from 2600 BC to the first century CE?

meﬁjﬁeﬁmﬁﬁﬁ%{w R b IR U o dH BT
JeTd Y|

Mention some of the facts regarding Ur, one of the earliest cities to have been excavated.
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What Social Status did the slaves hold in the Roman society and how they were treated in
the society?
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What is meant by Late antiquity? Which religious, Economics and administrative changes
were made during 4th to 7th CE in Roman Empire?
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Describe the third order or life of cultivators in medieval Europe.

OR
"1 4T TcTeq] BT BT dob, JRIU 1 TS faar diar g1 mar |
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“By the beginning of the 14th century, the economic expansion of Europe slowed down”.
What were the reasons behind it?

Section - D
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The Warka Head
This woman’s head was sculpted in white marble at Uruk before 3000 BCE. The eyes and
eyebrows would probably have taken lapis lazuli (blue) and shell (white) and bitumen (black)
inlays, respectively. There is a groove along the top of the head, perhaps for an ornament.
This is a world-famous piece of sculpture, admired for the delicate modelling of the woman’s
mouth, chin and cheeks. And it was modeled in a hard stone that would have been imported
from a distance.
Questions:
(i) Where was the woman’s head sculpture discovered? How old was this?

(ii) What were its unique characteristics?
(iii) Why is it a world famous sculpture?
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The Capture of Bukhara
Juwaini, a late-thirteenth-century Persian chronicler of the Mongol rulers of Iran, carried an
account of the capture of Bukhara in 1220. After the conquest of the city, Juwaini reported,
Genghis Khan went to the festival ground where the rich residents of the city were and
addressed them: O people, “ Know that you have committed great sins, and that the great
ones among you have committed these sins. If you ask me what proof I have for these words,
I'say it is because I am the punishment of God. If you had not committed great sins, God
would not have sent a punishment like me upon you”. Now one man had escaped from
Bukhara after its capture and had come to Khurasan. He was questioned about the fate of the
city and replied: “They came, they [mined the walls], they burnt, they slew, they plundered
and they departed.”
Questions:
(i) By whom is the above passage written? What does he describe in it?

(ii) What do you know about Genghis Khan?
(iii) What did Genghis Khan say to the conquered people?
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In Benedictine monasteries, there was a manuscript with 73 chapters of rules which were
followed by monks for many centuries. Here are some of the rules they had to follow:
Chapter — 6 : Permission to speak should rarely be granted to monks.

Chapter — 7 : Humility means obedience.

Chapter — 33: No monk should own private property.

Chapter — 47: Idleness is the enemy of the soul, so friars and sisters should be occupied at
certain times in manual labour, and at fixed hours in sacred reading.

Chapter -48: The monastery should be laid out in such a way that all necessities be found
within its bounds: water, mill, garden, workshops.

Questions:

1. What does humility mean?

2. What does chapter 47 say?

3. Write the name of two well known monasteries.

Section - E
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Show the following on the political world map A, B and C and on the same map identify the
places and write their names D and E.

A. Gaul

B. Rome

C. Constantinople

D. A place where was spoken coptic.

E. A place where transhumance was widespread in the countryside.

ie: Uy T=IT 34 & WIF W) FAufafaa yy efparfia
Sufigar) & foru g1

NOTE: The following question is for the visually impaired candidates in lieu of
Question number 34.

i) I VI BT IcTRG DY OgT TUTSIY T UIYT 37T AT
i) JHT AT & gad &1 AH ferfau|

RS N N U \— |




iii) BT DI YL BT AH feIlRau|
iv) ToT T QR A4 |
v) 98 I ST IR ST BT 3¢ §aT|

i) Mention that place where grew papyrus plant.
ii) Write the name of the heart of Roman empire.
ii1) Write the name of constantine's capital.

iv) Old name of France.

v) The place where Islam emerged.






